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QUESTION 1

-- Exhibit 

-- Exhibit -

Click the Exhibit button. 

Referring to the exhibit, you see the proper BGP, MPLS, and routing instance configuration for PE1 and PE2. 

Which configuration on PE1 will allow CE1 to communicate with CE2 over a Layer 2 VPN, assuming PE2 has PPP TCC
encapsulation on so-0/0/0.0? 

A. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.2; } remote { inet-address 192.168.1.1; } } 

B. [edit interfaces fe-0/2/2 unit 42] family tcc { remote { inet-address 192.168.1.2; } } 

C. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.1; } } 

D. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.1; } remote { inet-address 192.168.1.2; } } 

Correct Answer: A 

 

 

QUESTION 2

An L1 router has formed an adjacency with an L1-L2 router. 

Under which condition will the L1-L2 router set the attach bit in its Level 1 link-state PDUs? 

A. when the L1-L2 router forms an adjacency with another L1 router in the same area 

B. when the L1-L2 router forms an adjacency with an L2 router in the same area 

C. when the L1-L2 router forms an adjacency with an L2 router in a different area 

D. when the L1-L2 router forms an adjacency with an L1 router in a different area 

Correct Answer: C 
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QUESTION 3

Click the Exhibit button. 

Referring to the exhibit button, you are asked to ensure that traffic destined for the 5 5.5.0/24 network must use the LSP
named Top Which two actions would you perform to accomplish this task*? (Choose two) 

A. Apply the policy as an import policy for BGP on R1 

B. Create a routing policy that matches the route 5.5.5.0/24 with an action of install- nexthop Isp Top. 

C. Create a routing policy that matches the route 5.5.5.0/24 with an action of next-hop Top. 

D. Apply the policy to the forwarding table on R1. 

Correct Answer: BD 

 

QUESTION 4

-- Exhibit ? 
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-- Exhibit -Click the Exhibit button. 

In the exhibit, an OSPF virtual link is established between R2 and R3. However, R4 cannot reach any external
destinations. 

What must you do you allow R4 to reach external destinations? 

A. Area 1 must be configured as a stub area. 

B. Area 1 must be configured as a standard OSPF area. 

C. Area 1 must be configured to use the Type 3 LSAs as the default LSA. 

D. The virtual link must be configured under Area 1. 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 
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You are implementing a Layer 3 VPN between Site 1 and Site 2. You notice that you are not sharing routes between
PE1 and PE2. You have verified that MPLS and RSVP are functioning correctly. Referring to the exhibit, what is causing
the problem? 

A. The multihop feature is not enabled. 

B. The next hop for the VPN routes is unusable. 

C. The Layer 3 VPN NLRI has not been enabled on PE1. 

D. The PE2 BGP session is restarting. 

Correct Answer: C 

 

QUESTION 6

You have configured PIM dense mode on your network. One of your PIM-enabled routers is not in the path of the
source-based tree between the source and the receivers, and has no need for the multicast traffic. Which behavior
would you expect from that router? 

A. The router will send register stop messages to the RP. 

B. The router will send prune messages to its upstream router. 

C. The router will send assert messages to the RP. 
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D. The router will send graft messages to its upstream router. 

Correct Answer: B 

 

QUESTION 7

-- Exhibit 

-- Exhibit -Click the Exhibit button. 

Your network has multiple LSPs between Router A and Router B, as shown in the exhibit. You add a new LSP between
these routers with the following parameters: 

LSP5: 20 Mbps; Priority 4 3 

Assuming no link has 20 Mbps available, which LSP will be preempted by LSP5? 

A. LSP1 

B. LSP2 

C. LSP3 

D. LSP4 

Correct Answer: D 

 

 

QUESTION 8

Click the Exhibit button 
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AS 100 is originating and sending EBGP routes to AS 200 AS 200 is acting as a transit provider and sending those
routers to AS 300 AS 200 is using confederation topology shown in the exhibit. 

What will the AS path of AS 100\\'s routes be when they are received on the AS 300 router? 

A. 200 100 

B. 200(65200 65100)100 

C. (65200 65100)100 

D. ({65200 65100}) 100 

Correct Answer: A 

 

QUESTION 9

A layer 2 circuit (RFC 4447) is established between two PE routers to provide connectivity between two customer sites.
Which two statements related to this deployment are true? 

A. Kompella encapsulation is used in the data plane communications. 

B. LDP must be used for the control plane communications 

C. BGP must be used for the control plane communications. 

D. Martini encapsulation is used in the data plane communications. 

Correct Answer: BD 

 

QUESTION 10
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Click the Exhibit button 

Referring to the exhibit, you control AS 24652 You are asked to ensure that traffic destined to the 23 56 83 0/24 network
from ISP 4 takes the most optimum path through ISP 3 ISP 1 should be used as a backup for this traffic flow 

Which two actions would accomplish this task? (Choose two) 

A. Set a higher local preference for the route advertised by ISP 3, 

B. Advertise a longer AS path from R2 to ISP 4 

C. Set a lower local preference for the route advertised by ISP 3. 

D. Advertise a longer AS path from R1 to ISP4 

Correct Answer: AD 

 

QUESTION 11

Refer to the exhibit. 
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Referring to the applied drop profile shown in the exhibit, if the buffer is 30 percent full, what is the probability of traffic
being dropped? 

A. 25 percent 

B. 30 percent 

C. 50 percent 

D. 75 percent 

Correct Answer: A 

 

QUESTION 12

Refer to the exhibit. 
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Your network engineer reported that they lost BGP connectivity to the neighbor 192.163.6.4 one hour ago, for five to ten
minutes. 

What are two ways to determine what happened? (Choose two.) 

A. Run the show bgp neighbor orf 192.163.6.4 detail command. 

B. View the information on the BGP monitoring station at 192.168.44.100. 

C. Run the show log bgptrace command and search for the time of the lost connectivity. 

D. Run the show log messages command and search for the time of the lost connectivity. 

Correct Answer: BD 
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